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The number of values of x in the interval
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The number of elements in the set S =
{0€ [—4m, 4m] : 3 cos? 20 + 6 cos26 —
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The number of solutions of the equation
20 — cos*6 + V2 = 0is R is equal to 4 , 20 - Cﬂ)q/@ +\ﬁ’ =0 .
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The number of solutions of the equation sin x = \R, - 9.2

2
cos” x in the interval (0,10) is@ wa =
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Prove that the equation kcosx — 3sinx = k + 1 possess a solution iff k € (-, 4].

Solve : cosb + cos30 + cosH0 + cos76 = 0



Solve : cosB cos26 cos30 = %; where 0 <B<n.

sin?x + cos®x = sinx cosx.

sinx(cos%—Zsinx] +[1+sin§—2cosx).cosx =0



: Solve the equation (sinx + cosx)!'"*"®* = 2 when 0 <x <.
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- Solve for x and v :
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